We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

**BRIGHT GENERAL MERCHANDISE** 

PHILGEPS Reg. No. 2017 -214602

QTY.	UNIT OF ISSUE	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
		Compactor #1 Plate No:CBN 5129		
		Engine No: 6HL1-311474		
		Chassis No: FRR35G4-7001776		
2	pcs	Tie rod	2,800.00	
1	рс	WD40	450.00	
2	pcs	Leaf spring pin	470.00	940.00
1	pc	Bolt & nut	110.00	110.00
2	pcs	Bol 1/2x6	200.00	
2	pcs	Leaf spring primary	3,800.00	
6	pcs	Leaf spring pin	470.00	
2	pcs	Leaf spring bushing	380.00	760.00
1	lot	Grease	500.00	500.00
1	рс	Rim 825x16	9,500.00	9,500.00
1	lot	Labor: pulldown leaf spring, primary, bushing	7,000.00	7,000.00
1	рс	Relay 24V 10A	1,100.00	1,100.00
5	pcs	Female terminal	20.00	100.00
		GT #1 Plate No: CAK 3030		
		Engine No: 6HHI - 208706		
		Chassis No: NRR33C1-3000654		
6	pcs	Stud	700.00	4,200.00
1	lot	Labor: repair of gear shifter	2,000.00	2,000.00
1	рс	WD40	450.00	
2	pcs	U-bolt	1,560.00	
1	рс	Center bolt	390.00	
1	pc	Bolt w/nut lock washer (3 inch x 20mm)	110.00	
5	pc	Bolt w/nut lock washer (4 inch x 35mm)	390.00	
1	pc	Leaf spring pin	470.00	
1	рс	Hydrovac D7	11,700.00	
8	pcs	Hose clamp	40.00	
18	ft	Fuel hose	150.00	
1	рс	T - fittings 3/8	780.00	
2	pcs	Elbo fittings 3/8	780.00	
1	pc	Clutch booster assembly	9,100.00	
	pcs	Bronze rod	190.00	
2	liters	Brake fluid	580.00	
4	pcs	Wheel cup	120.00	
30	meters	Auto wire #14	80.00	
50	Inclus	/ MIC WIIC # 14	30.00	2,400.0
		SUB TOTAL 1	10 -	80,150.0

IN WITNESS WHEREOF, we hereby affix our signatures this

in the City of Calapan.

ENGR. MOSS L SIMBAHAN

Engineer II BAC Member DULCE AMOR E. LAO
Planning Officer III

BAC Member

REY DANTEL S. ACEDILLO

City Legal Officer
BAC Member

Dr. FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Engr. BENJAMIN L. ACEDERA

City Engineer

BAC Chairperson

WILFREDO G. LANDICHO

City ENRO

Approved by:

MARILO F. MORILLO

City Mayor

2391

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

**BRIGHT GENERAL MERCHANDISE** 

PHILGEPS Reg. No. 2017-214602

QTY.	UNIT OF ISSUE	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
		GT #13 Plate No: NBG-7908		
		Engine No: 6HH1227500		
		Chassis No: NRR33-3001604		
3	can	Grease	500.00	1,500.00
1	set	Shell horn 24V	2,800.00	2,800.00
2	pcs	Steel brush	240.00	480.00
4	pcs	Screw bleeder	110.00	
1	meter	Steel tube w/fittings	110.00	110.00
1	lot	Labor: Repacking of all tires, repair of brake	18,000.00	18,000.00
		system, replace of u-bolt and center bolt		
3	pcs	Clearance light	390.00	1,170.00
1	рс	Brake master kit	3,200.00	3,200.00
1	рс	Signal light front right	1,820.00	1,820.00
6	pcs	Terminal	25.00	150.00
1	рс	Leaf spring	980.00	980.00
		GT #9 Plate No: SFW-795		
		Engine No: 6BGI-664249		
		Chassis No. FRR12DA-1203486493		
1	рс	Starter assembly	11,700.00	11,700.00
3	pcs	Rim 825x20	11,000.00	
1	рс	Tire 825x20	19,500.00	
1	рс	Flap 825x20	450.00	
1	рс	Tube	950.00	950.00
1	lot	Labor:replace of leaf spring and clearance light,	9,500.00	9,500.00
		signal light		
2	pcs	battery 3SM	9,800.00	19,600.00
1	рс	Fuel strainer	280.00	
1	lot	Labor: pull down transmission, repair of	12,000.00	12,000.00
		transmission, shaft machine shop		
2	pcs	Tube 825x20	950.00	1,900.00
3	pcs	Flap 825x20	450.00	
	1	Compactor #1 Plate No:CBN 5129		
		Engine No: 6HL1-311474		
		Chassis No: FRR35G4-7001776		
8	ft	Hose assy	600.00	4,800.00
4	can	Freon	450.00	.,
1	Liter	Oil	300.00	, , , , , , , , , , , , , , , , , , , ,
1	lot	Labor: aircon cleaning	1,500.00	
		SUB TOTAL 2	\(\)	149,280.00

IN WITNESS WHEREOF, we hereby affix our signatures this

in the City of Calapan.

ENGR. MOSS L. SIMBAHAN

Engineer II
BAC Member

DULCE AMOR E. LAO

Planning Officer III BAC Member REY PARTELS ACEDILLO

dity Legal Officer
BAC Member

Dr. FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Engr. BENJAMIN L. ACEDERA

City Engineer BAC Chairperson WILFREDO G. LANDICHO

City ENRO

Approved by:

MARILOU F. MORILLO

City Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective

The Items Awarded to:

**BRIGHT GENERAL MERCHANDISE** 

PHILGEPS Reg. No. 2017 - 2146.02

QTY.	UNIT OF ISSUE	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
VANCOUS ESTIMATION OF THE PARTY	1.000=	Nissan Caravan Plate No: SGR - 201		
		Engine No: Z20816124X		
		CHASSIS NO. KHE24-05338		
2	pcs	Stabilizer bushing	200.00	
1	pcs	Tie rod	2,200.00	
2	pcs	Shock absorber L/R	3,800.00	
1	pcs	Stabilizer link	1,200.00	1
	pcs	Ball joint	2,800.00	
2	pcs	Cross member bushing	400.00	
1	lot	Machine shop	4,800.00	
1	lot	Labor: repair of under chassis major parts	6,800.00	
1	Liters	Brake fluid	560.00	
1	lot	Labor: Repair of brake system	10,000.00	
1	unit	Labor: Repair of brake master	4,900.00	4,900.00
		L300 Plate No: B6737		
		Engine No: 4N14UAA8546		
		Chassis No:		
1	lot	General cleaning (freon, oil)	5,500.00	1
1	lot	Flushing condenser	3,000.00	
1	рс	Compressor	18,000.00	
2	pcs	Expansion valve	1,800.00	
1	рс	Drier	1,500.00	
1	рс	Blower motor	4,800.00	1
1	рс	Auxillary fan motor	5,500.00	
1	рс	Cooling coil (rear)	6,500.00	
2	set	Hose assembly	4,500.00	
4	pcs	Silicone	500.00	1
1	lot	Labor: Aircon general repair	4,000.00	4,000.0
		CENRD MOTOR POOL		
1	lot	Repair kit power sprayer	4,800.00	
1	gal	Marine epoxy	3,800.00	
50	pcs	Sandisc	120.00	6,000.0
		GRASS CUTTER		100
2	pcs	Grass cutter carburetor	1,700.00	3,400.0
		SUB TOTAL 3	1 _ / _	126,260.0

IN WITNESS WREREOF, we hereby affix our signatures this\_

in the City of Calapan.

ENGR. MOSS L SIMBAHAN

Engineer II **BAC Member**  DULCE AMOR E. LAO

Planning Officer III **BAC Member** 

REY DANIEL S. ACEDILLO ity Legal Officer

BAC Member

Dr. FEBY DAR'C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Engr. BENJAMIN L. ACEDERA

City Engineer BAC Chairperson WILFREDO G. LANDICHO

2024

City ENRO

Approved by:

ØU F. MORILLO City Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for Spare parts & Labor for Garbage Trucks of the City Government of Calapan as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

**BRIGHT GENERAL MERCHANDISE** 

PHILGEPS Reg. No. 2017 - 214402

	NIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
1 l	JNIT JNIT JNIT	SUB TOTAL 1 SUB TOTAL 2 SUB TOTAL 3	80,150.00 149,280.00 126,260.00	149,280.00
		GRAND TOTAL		355,690.00

IN WITNESS WHEREOF, we hereby affix our signatures this

in the City of Calapan.

ENGR. MOSS L. SIMBAHAN

Engineer II **BAC Member**  DULCE A MOR E. LAO

Planning Officer III **BAC Member** 

REY DA ACEDILLO

Legal Office AC Membe

FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Engr. BENJAMIN L. ACEDERA

City Engineer BAC Chairperson

WILFREDO G. LANDICHO City ENRO

Approved by:

MARILOUF, MORILLO

City Mayor